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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

5500

5000 -

4500

4000

3500 -

3000

2500 -

2000 -

FVOEC'] is missing

—&— ECO

10

12
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G3-4

BjiE) | EBEETIE (7)) | EHME (BAH/K) | XK R

06:15 56 40.0 E 1BRi&e06:15 Bzl (RAEREE)
07:05 56 40.0 = {BRi18@07:05 B (GRFAEEE)
07:55 56 40.0 5| 1Ri&e07:55 Bz (REAERS)
08:45 56 40.0 = {RRiB008:45 Bz (RAKEE)
09:35 56 40.0 5| {Ri%@09:35 Bz (FRAERSE)
10:25 56 40.0 (Z=| 1Bige10:25 Bzh (REERESE)
11:15 56 40.0 = Rige11:15 B (GRS
12:05 56 40.0 E| {Rige12:05 Bzh (RE{ERSE)
12:55 56 40.0 F BRige12:55 Bz CGRAERESE)
13:45 56 40.0 | Ri%e13:45 B (RS
14:35 56 40.0 E BRige14:35 Bz (GRAERERE)
15:40 56 40.0 F BRige15:40 Bz CGRAERSE)
2it]672.0 (12)%) 480. 0 ZHKEC: 2270.0, PH: 6.5

ERGERIREL RN (0.55 vs 0.61), AIREE S AEES EEEESKERE
MERRHLEME STHAEARSY (31.0 : 38.0), HEE/KEEERME
ZRINKPRIEBRL38. 0 ml.

REFREBIPH (10.43) 5i8EPH (6.5) RER K, HRE

FEREIPH (10.43) 5FPH (6.5) REKK, FHRE

EYGERPH (10.4) 5i18EE (6.5) REKK, FHE.

LRGERIPH (10.4) S5RBIE (6.5 RERK, BRE,



2600 4 TargetEC=2500. 0, TargetSetEC=2270.0 ——  ECB*10%
2400 ‘ 3¢ 3¢ 3¢ 3¢ X

2200 -

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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R e e T T L L E Ty
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L 300 I
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3 Warning: lcol [FVI',| "FVO’'] missing 5
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G3-4_0, Day=14 (2025-05-26)
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G3-4

BYE) | GEBERTIC (B)) | EME (EAH/#K) | XS R

06:40 57 50. 0 5| 1Ri%e06:40 B (REERE)
07:35 57 50. 0 E|  {Ri&e07:35 B3h (RE{ERLEE)
08:50 57 50.0 E| {BRi%008:50 Bz (REAERESE)
09:50 57 50.0 E| {Rig@09:50 Bah (RE{ERSE)
10:50 57 50.0 | 1Ri%e10:50 B (KFEAERSE)
11:50 57 50.0 5| Rike11:50 Bz (REERS)
12:55 57 50.0 E BRige12:55 Bz (GRAERESE)
13:50 57 50.0 5| {Ri%e13:50 B3 (RAERSE)
14:45 57 50.0 = RRiB014:45 Bz (RFEAEESE)
15:35 57 50.0 E BRi&e15:35 Bz (GRAERESE)
16:35 57 50.0 5| {RiRe16:35 Bz (REAERESE)
21t 627.0 (113%) 550. 0 EIHFKEC: 2145.0, PH: 6.5

FOREB AT R IRAREIZIN (57 vs 76.0))
ELIASEFRIERE38.0 ml.

REXFEBPH (10.28) 5i&%EPH (6.5) RER K, HFHRE
REXEEBPH (10.28) 5FMIPH (6.5) REKA, BFHRE
EUEEEIPH (10.4) 58 FE(E (6.5) REK K, BB,
EREBPH (10.4) SREEY (6.5 RERKA, HHE.



FRV (ml plant-1)

—_

G3-4_0, Day=13 (2025-05-25)

40 -

20 A

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 481
390 300 L
330 364 35 400
26
- 200
34 Warning: lcol ['FVI',| "FVO'] missing 3
[ | e L0
4
- 30

0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
2600 — _ —¢ ECB*10% [
TargetEC=2500. 0,  TargetSetEC=2145. 0 0
o ECC
2400 - M = = H—x X
()
o ()
2200 - ) ° .
""""""""""" S 255 e e R
2000 -
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m=340, FV0=0 m=365, FV0=0 m=425, FV0=0

— NE 27.0 — MNE 27.8 — NE 28.0 — NE
27.6 -
26. 8 27.8
27.4
26. 6 27 9 27.6
26. 4 - 27.0 1 27.4
26. 8
26. 2 - 27.2
T T T T T T T T T T T T T
400 600 800 1000 340 345 350 365 370 375 425 430 435
m=495,m FV0=0 m=575,m FV0=0 m=650,m FV0=0 m=730,m FV0=0
o NE 27.6 o WE 27. 4 o NE 27.2 o WNE
27. 4 1 27.2 1 27.0 1
21.2 1 27.0 1 26. 8
27.0
26. 8 26. 6
26. 8 -
26. 6 26. 4
26. 6
26. 4 - 26. 2 -
T T T T T T T T T T T
500 505 575 580 585 650 655 660 730 735 740
m=815,m FV0=0 m=885,m FV0=0 m=975,m FV0=0 m
—— ME —e— ME —o— M_E
27.0 27.0
26. 8 - 26. 8 -
26. 6 26. 6
26. 4 26. 4
26. 2 - 26. 2 -
26.0 26.0
820 825 885 890 895 975 980 985 400 600 800 1000
m=340,m FV0=0 m=365,m FV0=0 m=425,m FV0=0 m=495,m FV0=0
—— MW | o0 00 —o— mw | 2787 —— mw | 4] —o— MW
27.4 27.2 4
26. 75 -
27.2 27.0
26. 50 1 27.0 26. 8
26. 25 26. 8 26. 6
26. 00 26. 6 - 26. 4 -
T T 25.75 - T T T 2641 T T T 26.2 1 T T T
345 350 365 370 375 425 430 435 495 500 505
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G3-4

BYE) | GEBERTIC (B)) | EBE (BEAH/#) | XS R

07:30 45 50.0 5| {Ri%@07:30 B3 (FRAERSE)
08:25 45 50.0 = {RRiB008:25 B (FRFAEEE)
09:20 45 50.0 = RRiB009:20 Bz (RAEEE)
10:15 45 50.0 5| {Ri&e10:15 Bzl (GREAERSE)
11:05 45 50. 0 =l {Rige11:05 B3 (RAERSE)
12:00 45 50. 0 =] Ri%e12:00 B (REATREESE)
13:00 45 50.0 F BRi%e13:00 Bz (GRAERERE)
13:55 45 50. 0 E|  {Rige13:55 B3h (RE{EREE)
14:50 45 50.0 =l RRiB014:50 Bz (REAKEE)
15:50 45 50.0 E| {Rig@15:50 Bzh (RE{ERSE)
2it|450.0 (100%) 500. 0 3ESHKEC: 2169.0, PH: 6.5

EOREBIRTC R IRAE R (61 vs 76.0))
2RIA\ L BR7ERE40. 0 ml.

FERERIPH (10.43) 5igEPH (6.5) REK K, T
RERERIPH (10.43) 5FMPH (6.5) REK K, HRE
LORGEBIPH (10.2) 5i1&EE (6.5) WERK, BRE.

EORGEBPH (10.2) S5RRAGEY (6.5) RERK, FRE.




G3-4_0, Day=12 (2025-05-24)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 463
350 330 5
268° -
20 L 200 -
81 &
I Warning: lcol [FVI',| "FVO’'] missing 34
0 [ Lo
= e — ME 20
T 40_ FRV -l - - - - - - maXM
I | ] | |
o L og
E 20+ | | | =
=
& S asm anl 26
1.0
4
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2g08_ . 0 4
TargetEC=2500. 0, TargetSetEC=21690 —>—  ECB*10%
3¢ > 3¢ X ® ECC
--------------------------------- 9 ---—fF-———@-F-—gg - ———f——————f-—————p——————]
2000
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@ ® @ o
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—_
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m=345, FV0=0 m=370, FV0=0 m=460, FV0=0

me | 2747 —o— ME —o— ue | 2807 —o— ME
28. 2 -
27.8 -
27.9 4 28.0
27.6 -
27.8 1
27.0 - i
27.6 - 21.4
_ 27.2
06,8 27.4
27.2 1 27.0 -
T T T T T T T T T T T T
400 600 800 345 350 355 370 375 380 460 465 470
m=560,m FV0=0 m=635,m FV0=0 m=715,m FV0=0 m=805,m FV0=0
27. 4 1 — we | , ] o— ne | 2727 o— ne | 2727 — NE
27. 2 A 27.0 A 27.0 -
27.0 -
26. 8 -
26. 8 - 26. 6 -
26,6 26. 6 -
26. 6 - 26. 4 -
26. 4 26.4 1
26. 4 - 26. 2 -
26. 2 - 26. 2 -
26. 2 - 26.0 -
T T T T T T T T T T T T
560 565 570 635 640 645 715 720 725 805 810 815
m=885,m FV0=0 m m=345,m FV0=0 m=370,m FV0=0
27.2 o— WE 275 o— wuw | 2707 o— ww | 2747 — W
27.0 A 26. 8 27.2 A
27.0 -
26. 8 -
26. 6 - 27.0 -
26. 6 26.5 1
26. 4 - 26. 8 -
26. 4 - 26,0 -
96,9 - 26. 2 - 26. 6 -
25.5 -
885 890 895 400 600 800 345 350 355 370 375 380
m=460,m FV0=0 m=560,m FV0=0 m=635,m FV0=0 m=715,m FV0=0
27.6 4 —— MW | 27.25 —— MW —— MW —— MW
27.0 26. 8 -
27. 4 1 -
27.00 26. 8 - 26. 6 -
27.2 - 26. 75 26. 6 - 264 -
26. 4 -
26. 50 - i
97 04 26. 2
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26. 25 - 26.0 -
26. 8 - 96. 0 -
26. 00 - 25. 8 -
460 465 470 560 565 570 635 640 645 715 720 725
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